24—k  10:15 (F%) 24—k  10:15 (F%)
1 - 2F4%F 800m 1 - 2F4£8F 800m
ol K% FE[75% 4L | [EE] e K% FE| 5% 14
1 || 136 [k =0 25 | FimlEL 4.10| 1 || 107 |F# ke | o2& [BEnEL 344
2 || 135 |&TF s 14 | #irket 420 | 2 [ 105 [+ @k 2% | giRpEL 353
3 | 137 [e® mz of | HiRkEE 4.35| 3 | 103 [T exm | 1# | HmixEE 356
4 | 108 [E= #E of | )L 358
5 [ 102 [ 5 | gL 416
6 | 101 [B®m mr | =8| grEt 4.44
=IE| 104 |iZE X#H 15 | ikkEL BN
REE( 106 [ml KH 146 |FENEL RfE
24—k  10:30 (F%) 28—+ 10:45 (F%)
3 - 4FEELF 1200m 3 - 4AFEBEF 1200m
BE|evry] K FE[V5 0% 514 BE|evrs] K& FE[750% #1b
1 [ 112 [w=x #x 4% | HREL 5.36 1| 118 (B s 4% | HimmE 512
2 | 116 |[mm #m= At | mEREE 547 2 || 112 [ = s | gL 517
3 | 106 [Iw = 3% | kL 553 3 | 114 [men e A | HimmE 523
4 [ 111 [ =5 4% | HREL 557 4 | 121 |mm = At [FENEE 5.31
5 || 115 [ == At | MEREE 6.07 5 | 113 [x& mm A% | gL 5.36
6 | 107 (% =@ 3% | kL 6.10 6 | 116 |mE mte | 4% | HrEL 5.46
7 || 100 [Ex o= 4 | Hiret 6.11 7 | 123 |xm mm® st | tasmE 552
8 || 108 |&F o 4% | HREE 6.28 8 || 122 |[=& &% At BN 557
o |[ 105 [m& xmm | s& | wimer 6.34 o || 19 [xm mxm | 2= | mimer 6.10
10 || 104 [k &% 3% | HimEt 6.35 10 [[ 111 [EN sz afe | HriEL 6.16
11 [ 13 |a® ==z 4% | HREE 6.45 11 |[ 115 [me &= 4% | HimmE 6.17
12 [ 110 @k = 4% | HREL 6.49 12 [ 17 [mx =% 4% | HimmE 6.22
13 114 LT ER 4% | FikkEEL 6.52 13 120 [#B&R 575 4% | HREL 6.24
14 [ 110 [3m m@ 3% | HHimmE 6.26
15 |[ 100 |&4E @ 3% | Himmt 716
24—k 11:00 (F5%) 24—k 11:20 ($5%)
5 6F4EXF 1600m 5 6F4BEF 1600m
BEevr] K% FE[75% 544 BE|evrs]  E& FE[750% 1L
1 [ 120 [t m= 5% | HikkiEL 6.47 1| 136 [mrx s 6% | FHEmEL 6.33
2 [ 122 |mm == 6% | izt 7.02 2 | 129 [neER wx | 6% | et 6.38
3| 133 [mx ®mE® | e | 4Rt 7.07 3 | 130 |mrr =xm | o= | kL 6.42
4 | 124 [xF m= 6% | FikMEL 714 4 | 141 [ A 6% | fmsmL 6.43
5 | 128 [wm me 6% | izt 719 5 | 135 x4 mes | o | grkiEt 6.50
6 | 117 |Bw %= 5% | HikkEL 7.23 6 | 127 % m® 5% | HiklEt 6.56
7 [ 130 [ == 6% | HikiEL 727 7 | 138 |xm m= 6% | HHmmEL 6.59
8 || 134 |&m &= 64 | EREE 7.34 g8 || 134 |mm m— 6% | HimmE 7.05
o || 131 |an 22 | e | 4Rt 7.36.62 o | 137 |mx = 6% | HHmmEL 7.08
10 123 BB =z 6% | HHimiEt 7.3698 10 [ 133 |@ &% 6% | FHmmEL 7.10
11 [ 119 [mx # 5% | HikkEL 7.45 11 [ 139 [wF =2 6% | HHmMEL 715
12 [ 127 |mz w 6% | FikkEL 7.48 12 |[ 142 e s 6% | fa4mEL 7.25
13 || 126 |xm # 6% | HimiEt 802 13 [ 131 [gmw st 6% | HiriEL 7.36
14 || 125 [shie m8 6% | HikkEL 8.10 14 [ 125 |30 =3 5% | HiklEr 7.41
15 |[ 121 [man s 6% | FikMEL 8.14 15 |[ 128 [ = 6% | FHmMEL 7.43
16 || 118 & == 5% | HHimkEt 8.22 16 || 126 |x&E —i2 5 | HikkEL 747
17 [ 120 [mEr mz 6% | FikkEL 8.30 17 [ 140 [k me 6% | HHmmL 8.19
18 || 132 |48t B 6% | MEEE 8.49 18 || 124 |H+m mm | 5% | izt 8.32




